

Cress Mfg. Company, Inc. 4736 Convair Dr. Carson City, NV 89706 Phone (800)423-4584, (775)884-2777, E-mail cressmfg@earthlink.net We invite you to visit our Web Site at www.cresskilns.com

HOBBY PARTS LIST PRICING

February 28, 2025

Post	Description	Retail Price Per Each	Post	Description	Retail Price
					Per Each
PS.5	1 " SQUARE POST 1/2" HIGH	\$1.70	PS1.5-12	1.5 " SQUARE POST 12" HIGH	\$4.15
PS1	1 " SQUARE POST 1" HIGH	\$1.80	PS1.5-14	1.5 " SQUARE POST 14" HIGH	\$5.80
PS2	1 " SQUARE POST 2" HIGH	\$1.95	PT.5	1.5 " TRIANGULAR POST 1/2" HIGH	\$2.10
PS3	1 " SQUARE POST 3" HIGH	\$2.10	PT1	1.5 " TRIANGULAR POST 1" HIGH	\$2.20
PS4	1 " SQUARE POST 4" HIGH	\$2.25	PT2	1.5 " TRIANGULAR POST 2" HIGH	\$2.40
PS5	1 " SQUARE POST 5" HIGH	\$2.50	PT3	1.5 " TRIANGULAR POST 3" HIGH	\$2.60
PS6	1 " SQUARE POST 6" HIGH	\$2.40	PT4	1.5 " TRIANGULAR POST 4" HIGH	\$2.90
PS1.5-1/2	1.5 " SQUARE POST 1/2" HIGH	\$2.55	PT5	1.5 " TRIANGULAR POST 5" HIGH	\$3.00
PS1.5-1	1.5 " SQUARE POST 1" HIGH	\$2.65	PT6	1.5 " TRIANGULAR POST 6" HIGH	\$3.20
PS1.5-2	1.5 " SQUARE POST 2" HIGH	\$2.80	PT7	1.5 " TRIANGULAR POST 7" HIGH	\$3.40
PS1.5-3	1.5 " SQUARE POST 3" HIGH	\$2.95	PT8	1.5 " TRIANGULAR POST 8" HIGH	\$3.60
PS1.5-4	1.5 " SQUARE POST 4" HIGH	\$3.10	PT9	1.5 " TRIANGULAR POST 9" HIGH	\$3.80
PS1.5-5	1.5 " SQUARE POST 5" HIGH	\$3.25	PT10	1.5 " TRIANGULAR POST 10" HIGH	\$4.00
PS1.5-6	1.5 " SQUARE POST 6" HIGH	\$3.40	PT11	1.5 " TRIANGULAR POST 11" HIGH	\$4.20
PS1.5-8	1.5 " SQUARE POST 8" HIGH	\$3.55	PT12	1.5 " TRIANGULAR POST 12" HIGH	\$4.40
PS1.5-10	1.5 " SQUARE POST 10" HIGH	\$3.85	PT14	1.5 " TRIANGULAR POST 13" HIGH	\$4.60

Shelves	Description	For Kiln	Retail Pric
			Per Each
S7	13" FULL ROUND	1414, 1814	\$ 29.0
S7H	13" HALF ROUND	1414, 1814	\$ 20.0
S10	10" FULL HEX	911, 1411	\$ 25.0
S10H	10" HALF HEX	911, 1411	\$ 19.0
S19	15"X16.5"OCT.X5/8" FULL	18, 23, f89, f97	\$ 35.0
S19H	15"X8"OCT.X5/8/" HALF	18, 23	\$ 22.0
S24	21" FULL ROUND X 3/4"	2418, 27, 31	\$ 63.0
S24H	21" HALF ROUND x 5/8"	2418, 27, 31	\$ 38.0
S28H	26" ROUND x 3/4" HALF	28	\$ 51.0
S100	8"X8"X1/2" FULL	C1006	\$ 32.0

SHELVES ARE STANDARD 1/2" TO 5/8" THICK, EXCEPT S28 BEING 3/4". S24H -

SHELVES FROM PANAMA ARE MADE OF HIGH TEMPERATURE MATERIALS GOOD TO CONE 10.

Furniture Kits	Description	Retail Price
FK4	FURNITURE KIT A4 (1 EACH 5X5 SHELF, 3 EACH ½" AND 4" POSTS)	\$41.00
FK8	FURNITURE KIT A8 (1 EACH 6X6 SHELF, 3 EACH ½" POSTS)	\$66.00
FKHEXAJR	FURNITURE KIT 911 (1 FULL SHELF, 1 HALF SHELF, 3 EACH POST ASSORTMENT)	\$84.00
FKHEXA	FURNITURE KIT 911 (2 FULL SHELVES, 1 HALF SHELF, 4 EACH POST ASSORTMENT	\$98.00
FKHEPTA	FURNITURE KIT 1814 (2 FULL SHELVES, 1 HALF SHELF, 4 EACH POST ASSORTMENT	\$129.00
FKOCTAJR	JR. FURNITURE KIT 18, 23, F87 (2 FULL SHELVES, 1 HALF SHELF, 3 EACH POST ASSORTMENT)	\$135.00
FKOCTA	STANDARD FURNITURE KIT 18 & 23 (3 FULL, 2 HALF SHELVES, 4 EACH POST ASSORTMENT)	\$200.00
FKDECAJR	JUNIOR FURNITURE KIT 27 & 31 (4 HALF SHELVES, 6 EACH POST ASSORTMENT)	\$331.00
FKDECA	FURNITURE KIT, 24,27,29,31 (8 HALF SHELVES, LARGE 8 EACH POST ASSORTMENT)	\$510.00
FKDODECA	FURNITURE KIT, 28 (8 HALF SHELVES, LARGE 8 EACH POST ASSORTMENT)	\$615.00

SHELVES ARE STANDARD 1/2" TO 5/8" THICK, EXCEPT S28 BEING 3/4".

SHELVES FROM PANAMA ARE MADE OF HIGH TEMPERATURE MATERIALS GOOD TO CONE 10.

Stands	For Kilns Listed	Retail Price
KPE23STAND	911/1411/141814/18/20/23/25/F89 STAND WITH REFLECTOR	\$61.00
KPE27STAND	2418/24/27/29/31 ARC WELDED ANGEL IRON STAND WITH REGLECTOR	\$120.00
KPE28STAND	28/2831/31 ARC WELDED ANGLE IRON STAND WITH REFLECTOR SHIELD	\$153.00

Accessories	Description	Retail Price
ESWR20	20 AMP 125 VOLT WALL RECEPTACLE	\$20.00
ESWR30	30 AMP 250 VOLT WALL RECEPTACLE	\$20.00
ESWR50	50 AMP 250 VOLT WALL RECEPTACLE	\$20.00
KPPP	PEEPHOLE PLUG	\$8.00
TC81	TYPE K THERMOCOUPLE (SPECIFY 3") WITH BLOCK	\$53.00
TC81.5	TYPE K THERMOCOUPLE (SPECIFY 5") WITH BLOCK	\$53.00
TC82	TYPE K THERMOCOUPLE (SPECIFY 7") WITH BLOCK	\$53.00
TC82.5	TYPE K THERMOCOUPLE (SPECIFY 8") WITH BLOCK	\$53.00
TC83	TYPE K THERMOCOUPLE (SPECIFY 10") WITH BLOCK	\$56.00
TC84	TYPE K THERMOCOUPLE (SPECIFY 12") WITH BLOCK	\$56.00
ESTCLW4	THERMOCOUPLE LEAD WIRE, 4 FEET WITH CONNECTORS (CAN SUPPLY CUSTOM LENGTHS)	\$41.00
KSTAL	TUBE ASSEMBLY - LONG FOR KILNS WITH A 2.5" THICK WALL	\$78.00
KSTAXL	LONG TUBE ASSEMBLY FOR KILNS WITH 3" THICK WALL	\$80.00
KS95B	SWITCH BLOCK ASSEMBLY WITH PLUNGER	\$120.00
INF24031B	INFINITE POWER SWITCH - 240 VAC	\$34.00
INF208161B	INFINITE POWER SWITCH - 208 VOLTS	\$34.00

Bricks	Description	Retail Price
		Per Each
KPB6G3	3" GROOVED BRICK FOR 6 SIDED KILN	\$19.00
KPB6C3	3" CROSSOVER BRICK FOR 6 SIDED KILN	\$19.00
KPB6P3	3" PEEPHOLE BRICK FOR 6 SIDED KILN	\$19.00
KPB7G	2.5" GROOVED BRICK FOR 7 SIDED KILN	
KPB7C	2.5" CROSSOVER BRICK FOR 7 SIDED KILN	\$18.00
KPB7P	2.5" PEEPHOLE BRICK FOR 7 SIDED KILN	\$18.00
KPB8G	2.5" GROOVED BRICK FOR 8 SIDED KILN	\$18.00
KPB8C	2.5" CROSSOVER BRICK FOR 8 SIDED KILN	\$18.00
KPB8D	2.5" DUMMY (UNGROOVED) BRICK FOR 8 SIDED KILN	\$18.00
KPB8P	2.5" PEEPHOLE BRICK FOR 8 SIDED KILN	\$18.00
КРВ8Н	2.5" HALF BRICK FOR 8 SIDED KILN	\$18.00
KPB8G3	3" GROOVED BRICK FOR 8 SIDED KILN	\$19.00
KPB8C3	3" CROSSOVER BRICK FOR 8 SIDED KILN	\$19.00
KPB8P3	3" PEEPHOLE BRICK FOR 8 SIDED KILN	\$19.00
KPB10G	2.5" GROOVED BRICK FOR 10 SIDED KILN	\$18.00
KPB10C	2.5" CROSSOVER BRICK FOR 10 SIDED KILN	\$18.00
KPB10P	2.5" PEEPHOLE BRICK FOR 10 SIDED KILN	\$18.00
KPB10H	2.5" HALF BRICK FOR 10 SIDED KILN	\$18.00
KPB10G3	3" GROOVED BRICK FOR 10 SIDED KILN	\$19.00
KPB10C3	3" CROSSOVER BRICK FOR 10 SIDED KILN	\$19.00
KPB10P3	3" PEEPHOLE BRICK FOR 10 SIDED KILN	\$19.00
KPB12G3	3" GROOVED BRICK FOR 12 SIDED KILN	\$19.00
KPB12C3	3" CROSSOVER BRICK FOR 12 SIDED KILN	\$19.00
KPB12P3	3" PEEPHOLE BRICK FOR 12 SIDED KILN	\$19.00
IFBK23	PLAIN INSULATING FIREBRICK (4.5"X9"X2.5")	\$19.00
IFBK23-3	PLAIN INSULATING FIREBRICK (4.5"X9"X3")	\$19.00

Stainless Kiln	Description	Retail Price
Jackets		
KP1411SKIN	1411 SKIN WITH U BARS, BOLTS & NUTS	\$99.00
KP1414SKIN	1414 SKIN WITH U BARS, BOLTS & NUTS	\$134.00
KP1814SKIN	1814 SKIN WITH U BARS, BOLTS & NUTS	\$158.00
KP18SKIN	18 SKIN WITH U BARS, BOLTS & NUTS	\$170.00
KP23SKIN	23 SKIN WITH U BARS, BOLTS & NUTS	\$184.00
KP23SKIN3	23 SKIN FOR 3" BRICK MODELS W/ U BARS, BOLTS & NUTS	\$189.00
KP24SKIN	24 SKIN WITH U BARS, BOLTS & NUTS	\$199.00
KP27SKIN	27 SKIN WITH U BARS, BOLTS & NUTS	\$217.00
KP27SKIN3	27 SKIN FOR 3" BRICK MODELS W/ U BARS, BOLTS & NUTS	\$228.00
KP31SKIN	31 SKIN WITH U BARS, BOLTS & NUTS	\$244.00
KP31SKIN3	31 SKIN FOR 3" BRICK MODELS W/ U BARS, BOLTS & NUTS	\$258.00
KP28SKIN3	28 SKIN FOR 3" BRICK MODELS W/ U BARS, BOLTS & NUTS	\$276.00

Control Panel	Description	Retail Price
Shells		
P911	911 PANEL SHELL	\$68.00
P18	1418/18 PANEL SHELL	\$96.00
P23	23 PANEL SHELL	\$96.00
P27	27/28 PANEL SHELL	\$113.00
P31	31 PANEL SHELL	\$125.00

Switches	Description	Retail Price
ESINF12032	INFINITE SWITCH W/PALNUT, 120 VAC, C1006/C104H	\$34.00
ESINF24031B	INFINITE SWITCH W/PALNUT, 240 VAC	\$34.00
ESINF208161B	INFINITE SWITCH W/PALNUT, 208 VAC	\$34.00
ESKNOB	BLACK SWITCH KNOB	\$10.00
ESLPB	LIGHTED PUSH BUTTON SWITCH	\$34.00
ESRPRD11AG0	RELAY DOUBLE POLE DOUBLE THROW, PRD11AG0, 230 VAC 30 AMP	\$76.00
ESRPRD7AG0	RELAY DOUBLE POLE SINGLE THROW, PRD7AG0, 230 VAC 30 AMP	\$80.00
ESRT9211	RELAY DOUBLE POLE DOUBLE THROW, T9211	\$32.00
ESRT92S7D22-12V	RELAY DOUBLE POLE SINGLE THROW, T927 FOR E MODELS	\$42.00
ESPL	PILOT LIGHT WITH 4" LEADS	\$18.00
ESPLL	PILOT LIGHT WITH 9" LEADS	\$18.00
ESMOTORFIREMATE	FIREMATE MOTOR, 240 VAC	\$168.00
ESMOTORFIREM	FIREMATE MOTOR 120 VAC	\$168.00
ESTHUMBWHEELA	THUMBWHEEL ASSEMBLY, 240 VAC	\$307.00
ESTHUMBWHEELA1	THUMBWHEEL ASSEMBLY, 120 VAC	\$307.00
ESMS15	PUSH BOTTON SAFETY SWITCH	\$34.00

Brick Floor	Description	Retail Price
KP911BB	911/1411, 3" BRICK BOTTOM	\$112.00
KP1414BB	1414, 2.5" BRICK BOTTOM	\$152.00
KP23BB	18/20/23/25, 2.5" BRICK BOTTOM	\$152.00
KP23BB3	23, 3" BRICK BOTTOM	\$188.00
KP27BB	24/27/29/31, 2.5" BRICK BOTTOM	\$233.00
KP27BB3	27/31, 3" BRICK BOTTOM	\$281.00
KP28BB3	28/2831, 3" BRICK BOTTOM	\$384.00

Metal Pan	Description	Retail Price
KP911PAN	911 /1411 METAL PAN	\$36.00
KP1414PAN	1414 /1418 METAL PAN	\$38.00
KP23PAN	18/20/23/25 METAL PAN	\$45.00
KP23PAN3	23 METAL PAN FOR THREE INCH BRICK MODELS	\$61.00
KP27PAN	24/27/29/31 METAL PAN	\$72.00
KP27PAN3	24/27/29/31 METAL PAN FOR 3" BRICK MODELS	\$93.00
KP28PAN3	28/2831 METAL PAN FOR THE 3" BRICK MODELS	\$102.00

Brick Lids	Description	Retail Price
KP911BL	911/1411 LID, 3" BRICK WITH METAL BAND AND HANDLE	\$153.00
KP1414BL	1414 LID, 2.5" BRICK WITH METAL BAND AND HANDLE	\$172.00
KP23BL	18/20/23/25 LID, 2.5" BRICK WITH METAL BAND AND HANDLE	\$201.00
KP23BL3	23 LID, 3" BRICK WITH METAL BAND AND HANDLE	\$240.00
KP27BL	24/27/29/31 LID, 2.5" BRICK WITH METAL BAND AND HANDLE	\$357.00
KP27BL3	27/31 LID, 3" BRICK WITH METAL BAND AND HANDLE	\$406.00
KP28BL3	28/2831 LID, 3" BRICK WITH METAL BAND AND HANDLE	\$513.00

Cement	Description	Retail Price
CQ	KILN CEMENT, 1 QUART	\$21.00
LCQ	LID COAT, 1 QUART	\$21.00

Fastners	Description	QTY	Retail Price
HS8H.5	#8 X 1/2" HEX. WASHER SLOTTED SHEET METAL SCREW	12	\$5.50
HS8H1.25	#8 X 1.25" HEX WASHER SLOTTED SHEET METAL SCREW	12	\$5.50
HS6S.375	#6/32 X 3/8" SOCKET HEAD CAP SCREW	12	\$5.50
HS6R.25	#6/32 X 1/4" SLOTTED ROUND HEAD BOLT	12	\$5.50
HS6R.5	#6/32 X 1/2" SLOTTED ROUND HEAD BOLT	12	\$5.50
HS6N	#6/32 HEX. NUT	12	\$5.50
HS8N	#8/32 HEX. NUT	12	\$5.50
HS10R.5	10/32 X 1/2" SLOTTED ROUND HEAD BOLT	12	\$5.50
HS10F.75	10/32 X 3/4" SLOTTED FLAT HEAD BOLT	12	\$5.50
HS10F.1	10/32 X 1" SLOTTED FLAT HEAD BOLT	12	\$5.50
HS10W	#10 FLAT	12	\$5.50
HS10N	#10 HEX NUT	12	\$5.50
HS10ACORN	#10 ACORN NUT	12	\$5.50
HS20R4	1/4-20 X 4 SLOTTED ROUND HEAD BOLT	12	\$8.50
HS20N	1/4-20 HEX NUT	12	\$7.00

Connecting Wires	Description	Retail Price
WHES	9" ELEMENT TO SWITCH, 14 GAGE	\$26.00
WHEE	5" ELEMENT TO ELEMENT, 14 GAGE	\$26.00
WHCK	8" CORD TO KILN SITTER, 10 GAGE	\$21.00
WHKS2	DOUBLE KILN SITTER TO SWITCH, 14 GAGE	\$27.00
WHKS3	TRIPLE KILN SITTER TO SWITCH, 14 GAGE	\$36.00
ESW10	FT. 10 GAGE SF2 WIRE	\$31.00
ESW14	FT. 14 GAGE SF2 WIRE	\$31.00
EST	TERMINALS (SPECIFY WIRE GAGE AND TYPE – EYES, FEMALES, FORKS)	\$23.00

Miscellaneaous	Description	Retail Price
Hardware		
ННС	HANDLE, CHROME PLATED	\$11.00
HLBGL	LID BRACE, GRAVITY LOCK (SPECIFY MODEL OF KILN)	\$81.00
HLP	TWO PIECE TWO POSITION LID VENTING PROP	\$22.00
ННА	HINGE ASSEMBLY (SPECIFY MODEL OF KILN)	\$73.00

Kiln Sitter Parts	Description	Retail Price
KSG	FIRING GAUGE WASHER	\$16.00
KSCS	CONE SUPPORTS	\$21.00
KSR	SENSING ROD (SPECIFY LENGTH)	\$15.00
KSMOTOR1	TIMER MOTOR, 120 VOLTS	\$89.00
KSMOTOR	TIMER MOTOR, 240 VOLTS	\$89.00
KSTAL	TUBE ASSEMBLY LONG	\$78.00
KSTA4	TUBE ASSEMBLY, 4" OR 4.5" (SPECIFY)	\$80.00
KSTA6	TUBE ASSEMBLY, 6"	\$80.00
KSTA7	TUBE ASSEMBLY, 7"	\$80.00
KS95B	SWITCH BLOCK ASSEMBLY AND PLUNGER ASSEMBLY	\$120.00
KS16A	CLAW AND SET SCREW	\$21.00
KSLT3K	KILN SITTER LIMIT TIMER, 240 VOLTS (SPECIFY TUBE LENGTH)	\$322.00
KSLT3K1	KILN SITTER LIMIT TIMER, 120 VOLTS (SPECIFY TUBE LENGTH)	\$340.00

Element Sets	For Kiln	Retail Price Per Each	# In Set	Retail Price
				Per Set
ELBT911HS	B911H, FX911	\$51.00	2	\$102.00
ELH91120S	H91120	\$51.00	2	\$102.00
ELB1411S	B1411	\$52.00	3	\$156.00
ELB1414S	B1414, FX1414, FE1414	(\$52 full, \$29 half each)	4	\$162.00
ELFX1814S	FX1814	\$58.00	4	\$232.00
ELE1814S	E1814	\$58.00	4	\$232.00
ELB18HS	B18H	\$58.00	4	\$232.00
ELE18S	E18	\$58.00	4	\$232.00
ELFX20MS	FX20M	\$58.00	4	\$232.00
ELB23HS	В23Н	\$58.00	4	\$232.00
ELEF23S	EF23, EB23	(\$58 full, \$30 half each)	4	\$176.00
ELFX23S	FX23, FE23, FE20, FX23M B23H	\$58.00	4	\$232.00
ELXL23S	XL23	(\$58 full, \$30 half each)	8	\$352.00
ELE23S	E23	(\$58 each, \$30 half each)	6	\$294.00
ELFX2418S	FX2418	\$68.00	4	\$272.00
ELFX24S	FX24	\$68.00	5	\$340.00
ELB24HS	B24H, FX24	\$68.00	5	\$340.00
ELB27HS	B27H, FX27	\$68.00	6	\$408.00
ELFX27S	FX27, FX27M, FE27, FE29,	\$68.00	6	\$408.00
ELFTX31S	FTX31, FTE31	\$68.00	7	\$476.00
ELE27S	E27	\$68.00	6	\$408.00
ELFTE28MS	FTE28M, FTX28M,FTX28UP	\$68.00	6	\$408.00
ELET28S	ET28	\$68.00	6	\$408.00
ELB31HS	B31H	\$68.00	7	\$476.00
ELFX31S	FX31	\$68.00	7	\$476.00
ELEF27S	EF27	\$68.00	4	\$272.00
ELEF1827S	EF1827	\$68.00	4	\$272.00
ELA15HS	A15H	\$68.00	3	\$204.00
ELA22HS	A22H	\$68.00	4	\$272.00
ELC8HS	C8H, FXC8H	\$112.00	5	\$560.00
ELC11HS	C11H	\$64.00	2	\$128.00
ELC14S	C14, FXC14	\$94.00	3	\$282.00
ELC15S	C15, C17, C12	\$109.00	3	\$327.00
ELC20HS	C20H, FXC20H	\$86.00	4	\$344.00
ELC20LS	C20L	\$127.00	4	\$508.00
ELC26HS	C26H, FXC26H	\$104.00	 5	\$520.00
ELC30FHS	C30FH, FXC30FH	\$105.00	7	\$735.00
ELC1006	C1006	\$92.00	1	\$92.00
ELC104H	C104H	\$72.00	1	\$72.00

SPECIFY COMPLETE MODEL, VOLTAGE AND SERIAL NUMBER OF KILN WHEN ORDERING ELEMENTS, ELEMT PINS ARE INCLUDED WITH EACH ELEMENT. WHEN ORDERING INDIVIDUAL ELEMENTS, PLEASE SPECIFY POSITION OF EACH ELEMENT.
WE ADVISE USE OF NEW RODS WHEN REPLACING ELEMENTS IN THESE MODELS. CONTAMINATION ON OLD RODS MAY DAMAGE NEW ELEMENTS.

Element	Description	Retail Price
Accessories		
ELSP	ELEMENT PINS - STRAIGHT	\$17.00
ELUP	ELEMENT PINS - "U"	\$20.00
PIBB	ELEMENT INSULATORS (STAR), PACKAGE OF 4	\$16.00
PIF	ELEMENT INSULATORS (FISHBACK BEAD), PACKAGE OF	\$18.00
ELPR	PORCELAIN RODS, PACKAGE OF 50	\$73.00
ELNBW	NUT (1), BOLT (1) AND WASHERS (2)	\$6.50

Power Supply	Description	Retail Price
Cord		
ESCO15	115 VOLT 15 AMP CORD FOR ELEVATED TEMPERATIRES	\$47.00
ESCO20	115 VOL 20 AMP CORD FOR ELEVATED TEMPERATIRES	\$49.00
ESCO30	230 VOLT 30 AMP CORD FOR ELEVATED TEMPERATIRES	\$62.00
ESCO50	230 VOLT 50 AMP CORD FOR ELEVATED TEMPERATIRES	\$76.00